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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]

8.0 -

7.5 1

7.0

6.5

Warning: col ['PHC’, 'FVIPH ] ils missing

/

—@— PHI

60

70 80

90

100

110

120

130




Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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XX6

EI&PH (7.33) R

AyiE) | EBIATK (FD) | EBE (BEHA/K) | XK R
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15:20 62 20.0 i FiH@15:20 (RFEREE)
21| 496.0 (8)%) 160.0 EPUHKEC: 2500, PH: 6.3
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XX6

FfiE) | EBIATK (FD) | ERE (EA/K) | XK EFE

07:55 170 10.0 {5 1RRi1%@07:55 (K FAfER%=2)
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TERBHLER E STREART (53.0 :

AriE) | EBIATK (FD) | EBE (EH/K) | XK ERE

08:00 28 10.0 i ;R1%@08:00 (RFERLES)
08:30 28 10.0 i {R1%@08:30 (K FH1ERLES)
09:00 28 10.0 i B31%@09:00 (FKAERH:E)
09:30 28 10.0 i 1%@09:30 (RFIERES)
10:00 28 10.0 {5 1’Ri1%@10:00 (K FAfERA=R)
10:30 28 10.0 i BRi1%@10:30 (K PBERE)
11:05 28 10.0 i Bi8@11:05 (FREERSR)
11:40 28 10.0 i FRi%e11:40 (RAERSS)
12:10 28 10.0 i Big012:10 (REAEH:E)
12:40 28 10.0 i Rige12:40 (kAfEREE)
13:10 28 10.0 i BRige13:10 (KPHERKE)
13:40 28 10.0 i B218013:40 (KREAEHE)
14:15 28 10.0 i Rige14:15 CkKBfERE)
14:50 28 10.0 i BRi&014:50 (REERE)
15:35 28 10.0 i 1RRi%@15:35 (KAL)
2it]420.0 (15¥%) 150. 0 3203 KEC: 2500, PH: 6.3

LOREBRTC R IRMERE Y (170.0 vs 26.0))

ZRIASERRERE66. 0 ml.

66.0), FIREKRFERME

unusual large postFgEt from yesterday (48), set to 30.0 ml.

E&PH (7.26) RS
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